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Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

________________________________________________________________________________________________________________________________________________
 1
 
Was the British mortality decline more a consequence of economic development than of social intervention? 

________________________________________________________________________

 2 
How important a role did cultural change play in bringing about the fertility decline in Britain during the late nineteenth and early twentieth centuries? 
________________________________________________________________________

 3 
  Do people who cohabit or stay single in contemporary Britain constitute a critique of marriage?
________________________________________________________________________

 4 
 Do different explanations of homogamy have different implications for the consequences of heterogamy?
________________________________________________________________________

 5 
  To what extent are the decisions made by women in contemporary Britain as to how many children to have and when to have them a reflection of cultural, economic and technological changes?
________________________________________________________________________

 6 

What are the implications for policy-makers of the diverse origins and consequences of teenage pregnancies in contemporary Britain?
________________________________________________________________________
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________________________________________________________________________

 7 
  How useful are contemporary accounts and discussions of marriage and the family to an understanding of how the latter have changed in Britain since the Second World War?
________________________________________________________________________

 8 
Is the extent of marital intervention in contemporary Britain a consequence of the ‘medicalisation’ of marriage?
________________________________________________________________________

 9 

To what extent does a specific separation or divorce need to be understood with reference to its social and historical context?
________________________________________________________________________

10 
Is the diversity of the lives of formerly married people more notable than their common features?
________________________________________________________________________

11 

Should all stepfamilies be expected to experience more problems than other families?
________________________________________________________________________

12 
To what extent is internal migration in contemporary Britain characterised by diversity?

________________________________________________________________________

13 

Are the mortality and fertility rates of less-developed countries likely to converge with those of developed countries? 
________________________________________________________________________

14 

Do those national population policies that are unsuccessful all fail for the same reasons? 
________________________________________________________________________

15 

Is an understanding of mortality from suicide and from lung cancer in contemporary Britain all that is needed for a reduction in mortality from these sources to be possible? 
________________________________________________________________________

16 

To what extent may fears about the consequences of Britain’s ageing population be ungrounded?
________________________________________________________________________
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